Wednesday, March 18, 2020

The Sine and Cosine Ratios

Sec 7-1 ForAlg 2

Sec 8-4 for Geometry

The Sine Ratio:
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Review the Tangent Ratio:
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The Cosine Ratio:
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Write each trigonomeric ratio as a fraction.

Write each trigonomeric ratio as a fraction.
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In right triangle trigonometry

why don't we find the SinC
or CosC? A In Right Triangle Trigonometry we can only find
e the Sin, Cos, and Tan of ACUTE angles.
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Finding missing sides using Sine and Cosine.

Find the value of y to the nearest

hundredth.
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Find the value of x the nearest
hundredth.

S_Ol_'lCAHTOA To find X:

¢ 1st: label sides as opp leg(O), adj
leg (A), or hypotenuse (H)

e 2nd: decide if you need to use
Sin, Cos, or Tan.

e 3rd: set up an equation using the
appropriate trig ratio.

® 4th: solve for the unknown.
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Find the value of x to the nearest hundredth.
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Find a missing angle using
Sine and Cosine.

After setting up the appropriate equation using SOHCAHTOA
you'll use either Inverse Sine (Sin") or Inverse Cosine (Cos™)
to turn the ratio back into the angle.

Find the measure of angle B to
the nearest hundredth of a degree.
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Find the measure of angle A to the
nearest hundredth of a degree.
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Angle A:
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You can now try the practice problems
in Practice #3 that can be found
on the link on my blog.



